Equal 9 step grey scaling betweeb* g3n=22.3 andL* ya»=95.9, Yoref=90.0, normalisation greyU

L*0anF22.3,L%0aU=59.1,L* 0aw=96.0, Yoan=3-6, Yoa e 27 -2, Yoaw=90.0, Coay=Yoaw: Yoan=25.0
L*taN=53.7,L*tau=59.1, L*taw=70.7, Ytan=21.7, Ytau=27.2, Ytaw=41.8,Gay=Ytaw: Ytan=1.9
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 PL* min] / [AL* max], L* cleLaB = 116 [Y/Yn]1/3 - 16 with Y >= 0,882,Y,=100

9*5: 99, g%y= 99 9%= 30, g%y= 23 9*5: 8_8, g'y=74
L*cieLaB  intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) 116 L*la Al*la
1007 (M9 %0 10 90 10! 707 10 418 10 70.7
: 3.4 2.2
8 868 0.875 69.6 0768 67.3 0799 37.0  0.869 68.5
: 3.1 2.2
75 7 776 075 525 0565 642 0.617 331 074 66.3
T : . 2.1
6 684 0625 385 0403 615 0.457 29.8  0.613 64.1
; 2.3 2.1
@5 591 05 272 0278 591 0319 272 0491 62.1
1 1.9 2.0
50 @4 499 0375 184 0171 57.2 0.205 251  0.372 60.0
: 15 1.9
@3 407 025 117 0094557 0.115 236  0.259 58.1
; 1.1 1.9
@2 315 0125 69 0038545 0.047 225  0.149 56.3
25+ ! 0.8 2.5
@: 223 00 36 00537 00 217 00 53.7

04;

. : femtian- Yoait Y
*o = = i normalisation: Yigju=Yoay 0" Oref
AL*g92  (i=12,..8) | tail=Yoau g 22 el

eekl1l-7n



